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% A rectangale with a 6 cm length and 4 cm width is equlvalent to a triangIe w1th an 8 cm
base. What is the tr1angle s height relat;ve to thls base? 6 cm g

A6cmby A cm by 2 cm rectangular prism is equwalent to a square based pvrannd If the_:.
51de 1ength of thc pyramid’s base is 4 cm, calculatc its he1ght 9em. = ¢ b

A cone and a cy finderhave congruent c1rcular babl?b ancl are equwalent What can be sald-
about the helghts of these two solids? - '

The he:ght o_f the cone is three t:mes the cylmder s helght

: The rectangle and r1ght trape701d on the right

are equivalent. What is the. numencal value of |

the rectangle’s perimeter? - L e
2x(x-3)=(2x +4)-x+ 2; x = §; i o px =By

- Perimeter of rectangle = 42 .

2t g g e

2. The rectangular prism and cube on the right are e
equivalent. What is the numerlcal value of the area of L | el x
each solid? v » v o b

x(x + 4)(x 2)=x3; x =

Area of prism: 112 u?; Area of cube 96 u?

x+4 ok

&. Figures A and B beiow are eqmvalent whereas ﬁgures B.and C are. simﬂar The area of

figure Cis 24 cm? greater than twice the area of figure A. Determine the perimeter of
figure C. ' : ! :

w x(x d); x=12; Area off:gureB 96 cm?; Area offxgureC 216 cm2 o

; Scale factor ——;

: Perlmeter offigure B = 40 cm; Perimeter offlgure C= 60 cm.

7 o Consider the three saiids represenjccd-below.
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Prisms A and B are eqmvalent Whereds pnsms B and C are smnlar The Volume of pmsm C
~is 8 times greater than the volume of prism A. The total volume of all three prisms is
10 dm3. What is the height h of prism C if the area of prism B’s base is IOO ¢m??
‘v: volume of prism A; We have: v + v + 8v = 10 000: v = 1000 cm3.

Prism A © PrismB : . PrismC

h': height of prism B; We have: 1000 = 100_ x h; W' =10 em. k=2 Therefi)re, h - 20 cm.
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. A regtangular plot of Iand with d1men51ons 45 m by 20 m and a square plot of land have_'
the same area. The cost, per metre of fence, is $25. :

a} Show that the square plot of land 1s Lheaper to fe_nce m

) E}} Explam Why of all plots with the same area as the rectangular plot the plot w1th the i
. minimal cost to fence will be a square plot. . e
It has been proven that of ail equwalent rectangtes the square is the one with the g

smaﬂest perimeter.

- We want to conqtrugt a box in the shape of a 1ectangular prlsm w1th 216 dm?of materlal

-a} We choose to make a box with a 60 cm by 40 ¢m base. What will its Volume ‘be7
x: height; 4800 + 120x +80x =21 600; x = 84; volume = 201.6 dm? o

The volume of such a box is 201.6 dm?3.

- b} 1. What must the shape of the box be to maximize its volume? Iustﬂ:) your answer.
' ‘A cube, since of all rectangular prisms thh the same total area, the cube is: the one

that has the greatest volume.

2. What are the dimensions of th_e box that satisfies these conditions?
x: edge of cube; 6x* = 216; x=6 '

The box is a cube with 6 dm edges.

3. What is the maximum Volume of thc box that can be constructed from the given
material? . 216 dm? o

A sphere and a cube each have a Volume of 8000 <_m~" Whu,h of the two solids has the
smallest total area? Justify your answ er

&} w;thout calculating the two volumes.
. Of all equwalent solrds, the sphere ‘has the smallest total area.

: i‘*‘} by cal(,ulatzng the two volumes.
i - Cube: 2400 cm?; sphere 1934 cm?.




